
class  Class  Model

User

- username  :String
- email  :String
- password  :String

+ update(username :String, email :String, password :String)  :Task
+ createTour(name :String)  :Task

Waypoint

- latitude  :double 
- longitude  :double 
- orderNumber  :int
- mediaPath  :String

+ delete()  :Task
+ update(latitude :double, longitude :double, mediaPath :String)  :Task

Tour

- name  :String
- creationDate  :Date
- isPublished  :boolean

+ delete()  :void
+ update(name :String, isPublished :boolean)  :Task
+ addWaypoint(latitude :double, longitude :double)  :void

«singleton»
Sess ion

- user  :LgUser
- currentTour  :LgTour

+ login(username :String, password :String)  :boolean
+ logout()  :void
+ register(username :String, email :String, password :String)  :void
+ forgottenPasswort(email :String)  :boolean
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